
Wednesday 3rd February 2021 
Two-step problems 
 

Can you solve the total and change for each transaction?  
Make sure to use a separate piece of paper to show your workings out. 

 
 
 Mrs Sutcliff’s shop 

 
Book                     £ 1.50 
Toy doll                £ 3.00 
 
 
TOTAL 
 
CASH                  £5.00 
 
CHANGE DUE 

Mrs Sutcliff’s shop 
 

Packet of crisps                 50p 
Bottle of water                    60p 
Ham sandwich               £1.50 
 
TOTAL 
 
CASH                              £5.00 
 
CHANGE DUE 

Mrs Sutcliff’s shop 
 

Teddy Bear            £2.00 
Toy Car                  £1.00 
 
 
TOTAL 
 
CASH                   £5.00 
 
CHANGE DUE 

Mrs Sutcliff’s shop 
 

Drum                   £ 5.00 
Flute                    £ 4.50 
 
 
TOTAL 
 
CASH                  £10.00 
 
CHANGE DUE 

Mrs Sutcliff’s shop 
 

Kit Kat                            50p 
Apple                              20p 
Pineapple                  £1.00  
 
 
TOTAL 
 
CASH                       £2.00 
 
CHANGE DUE 

Mrs Sutcliff’s shop 
 
Xylophone                  £3.00 
Recorder                          50p 
 
TOTAL 
 
CASH                      £5.00 
 
CHANGE DUE 


